Division par Puissances de Dix (G)

Trouvez chaque quotient.

56 ~1073 = 33+1072%=
12 +1073 = 27 =107 =
49 + 1073 = 46 +10% =
10 =10 = 72 +~1073% =
97 = 10° = 26 +~101 =
93 +-107% = 35 = 102 =
88 + 10' = 28 - 101 =
67 - 1071 = 10 - 10° =
83 +~107% = 96 =~ 1072 =
83 = 10° = 3 =103 =
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Division par Puissances de Dix (G) Solutions

Trouvez chaque quotient.

56 +~ 1073 =56 000 33 +1072=3300
12 +1073=12000 27 +1071 =270
49 - 1073 =49 000 46 + 10% = 0,46

10 +10'=1 72 +1073=72000
97 +10° =97 26 +~10'=2,6

93 + 1072 =9300 35+ 10%°=0,35

88 - 10'=8,8 28 +10'=2,8

67 + 1071 =670 10+10°=10

83 +1072=8300 96 + 1072 =9 600
83 +10°=83 3 +10°=0,003
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